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Marks: 10 Group:I Code: 71831 () /2 _Jue  10:.0%
Z h._,lﬁu;;uo:c;:. o L})ﬂ)éé.; &l L Jir’/;{. (}’de? -L,[.YZC:_;D,,IC{ B‘Aég;gjlké I r o1d
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1. 1- 'include' statements are written in section. =P Jlg d‘dut u’~c weiialfie 'include’ -1, 1

print 2y (D) comments J“"/ (C) main & (B) h?/ der it (A)
2 - are the values that do not change during the s L & i (1752 i,’\_;' uf‘fa, -2
execution of program. S Y
comments ¥ (D) stings £+ (C)  constants < 5 (B) variables =13 (A)
3 - The expression 13%3 has answer c‘__ 2§ 13%3 JJKQ .3
13 (D) ) 5 (C) 3(B) 1 (A)
4 - Which operator has highest precedence among these sbJ a. - (‘2/" J/:{Tuf;, S -4
| (D) < (C) ©@ (B) «(A)
5- Anif statement inside another if statement is called o {8 ﬁ?’}v}, P o i L & o S s
data L3 (D) nested Xz (C) r@%ed (2lr9) Miges (B) boxed A4 (A)
6- What is the ouput of following code? > | e VeensTd 3 ditn -6
int x=3 , y=7; @ / int x=3 , y=7;
if (x>y) if (x>y)
printf ("%d" x); /" printf ("%d" x);
else // else
printf ("%d" y): printf ("%d"y);
1 (D) 0(C) 3 (B) 7 (A)
7- Anarrayisa_____ structure. ' a Ay Mea -7
conditional b:}' (D) data &3 (C) / control J;/ (B) loop < (A)
8- part of for loop is executed first. / fe s é;; S e 2 ufK..;ﬂ for -8
a 3 sie LIRS 3
initialization =7 1 (D) increment 4Ll (Q/) condition ¢*& (B) body 3l (A)
9 - Function could be built-inor _____ g Ea Lok 4 -9
user defined %@} .Jy (B) admin defined 23 % (A)
related defined %3 A (D) server defined X5/ ©
o 1 b, AP 00210
10 - A function can return e L/.,),: ___:u” k
/ s -
two values (1 (B) one value u/,’“-{' (A)
many values (% § (D) three values U &% (C)
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COMPUTER SCIENCE st IT el FUE (1A 224) v
Time: 1:456 Hours Paper:II SUBJECTIVE - den I 24 & 14n
Marks: 40 Group:1 y\ =LY #au" bt 40 :¢
Note: Section I is compulsory. Attempt any TWO (2) (2) ne 3 = a2 o -y Uilo ks
questions from Section IL Section - 1 d?' - ..é' ..-,yzé.-pmr
9 - Write short answers to any FOUR (4) questions.  (2x4=8) ..;i gf- aglﬁ/‘.‘." L=y (4) /e Jf -2
i- Who is programmer? e E-J:( /l)ig -]
ii- How is a Header file included in a 'C' program? fe Ul yJe qi/ S J/li 1A% U~ (!/;4 LJ'C' - 1
iii- Describe the purpose of compiler. ‘é Sl 45 K)’L;f - i
TS Sin -y

iv- Wirite down the output of following code
int a=25% 3*4,
printf ("%d",a);

int a=25% 3*4;
printf ("%d",a),

v- Describe the purpose of format specifiers. LA A SV O I
vi- What is the difference between Unary and Binary operator? e J/ vy SA m pfT6 -

(2x4=8) -é;f.-,g:z/"’éauw (4) /o= J;(- 3

3 - Write short answers to ény FOUR (4) questions.
i- Describe the conditional logic. ‘27{"9(’2’ JJAAL’,/”‘ =
ii- Define sequential control structure. et A /: ;J:}f (Sequential) J5 e i
iii- How can you declare an array? S == //% C:"'rf"ﬂ "”T e
iv- Describe array initialization process at the time of declaration. -ZE Yl S Siafennl A -
v Identify errors in the following code segment, Assume thatall (¥ %@’Lé Jis i J g L3 -y
variables have already been declared. <<§/ R LA e &g i
R it (a<10); 3 W=
5). 515 & {& a=15
i{l else @ else
s’ printf("End"); > pﬂﬂtf("End").
OQ s
Write down output of the following co ent & i S Pl 3 i -vi
inta=7 , b=10; int a=7 , b=10; .
a=a+b; a=a+b;
if (a>20) if (@>20)
b=a+b; b=a+b;
printf("a=%d,b=%d",a,b); printf("a=%d,b=%d",a,b);
4 - Write short answers to any FOUR (4) questions.  (2x4=8) -é{f :—LLR/‘? L=tlr (4) e d7- 4
i . Whatis mea i ? ‘ ==
i nt by function call? e slr e JKV/G o
ii - Write down the Syntax of function signature - A
e g 3 & Syntax(,é’tu“c’ -ii
S5 a H - - » ¥ely
iii N o you know about function parameters? e T e L X -
iv- Write down the types of functions. o o1 § AY
e yp ion -&U(MJU—‘/’ -iv
- Find output of the followi 7
v P e o-!‘owfvmg code *.‘Jn Y g Jifdjsb,u -%
for(x~1, x.<=3; X++) for(x=1; x<=3; x++)
_— printf("Punjab"); printf("Punjab");
vi- Find output of the following code N
M SJ>=1. i ‘-'L)fn g 3T J:fd'_’)@/: i
=yt ¥ for(y=3; y>=1, y--)
printf("%d",y); printf("%d" y);

Section - IT (1) o
6 ~ Define comments. Explain sigle line and multiline (2+3+3=8) e uyj UG o S e a/J -5

comments with examples. oL eols JP
‘ —= -~ § i
6 - What is operator? Explain the relational operators. (8) Ereols S i1 J’&’*’% Se sy fl -6

7 - Write a program in C-language to print odd numbers (8) (Uj{ bl ér@c tw &SI S Sfor -7
between 50 and 70 using for loop. _g..f..:/g 1106 e £ 70 1 50 2 gr’/j/



COMPUTER SCIENCE

Time: 15 Minutes
Marks: 10 -

Paper:1I
Group:1I

ot 1 L JFGIE (194 224 - 1V)

OBJECTIVE

\ =
Code: 7838 (L) /2 LY S 1

...... U"J/" Il 24
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bytes of memory.
4 (D)

1. 1- Afloat uses

3(C)

2 . How many types of control structures are available in C-language?

1 (D) 2(C)

3. How many types of loop structure are available in C-language?

1(D) 2 (C)

4 - The person who knows how to write computer program

correctly, is known as

designer /'-’,;_,5 (D) manager ji"(C)

O a e
5- means to transfer control to another function. < @, 0 A o
including £ bﬁt@}g@ calling B¢ (B) rewriting &l (A)

defining &5 (D)

%>

®

6 - Which operator has the highest preceden
<(D)

&

*(C)

7. The values passed to a functiorr are called

return type _ge’u}:; (D)

8. What is the output of following code?
int p=20, q=2;
if(p%g==0)
printf("Even"),
else
printf("odd");

2 (D) 20 (C)
|
9. The expression 15%2 has answer
13 (D) 7.5 (C)
10 - structure allows repetition of a set of instructions.
array </ (D) loop 4 (C)
122-(IV)-15t A 224-24000 o

y pEE

operak@@@& programmer /'/i (A)

ng these?

body G (C) arguments VYT (B)

e S U O o
2 (B) 1 (A)

/ o i
U A DL Afetfc
Bi/‘

¢
34 4 (A)

/ . @ .
Wl L FF bR C

4 (B) 4 (M)

z

i’i . .
I C/WJ(I/G{ /‘r.’.{c:, E‘;}yu £ J’fu
~&s t‘lkf

/
/

5

‘.'c‘, ke - C} J/%{TJKL Je
= {B) - (A)

o AT S

defining &5 (A)

o e sTS W Uit
int p=20 , g=2;
if(p%q==0)
printf("Even");
else
printf("odd");

even =& (B) odd Jb (A)
o 2§ 15%2 et

7 (B) 1(A)

i BH Je-i

selection u’g/ (A)

data & (B)

oF L /‘(,J‘L oo S b

-1.1

-3

-10
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3 ) b2 1:45
Time: 1:45 Hours  Paper:II SUBJECTIVE duei II ;{ g 1440 y
5] WS -
Marks: 40 Group:II ‘-2l i ;;d 1 P ——"
Note: Section I is compulsory. Attempt any T™WO (2) (2) e e U ,.:!}q_u—ié -
questions from Section I1. 5 - 3l z: /‘;L- ’ u(4) i G{ :
2 - Write short answers to any FOUR (4) questions. (2x4= 8) &y f AT o Uy e gl
"_' -
i- Whatis Variable? , 5. /,, §
ii- Write down the syntax of variable initialization. L&k B/ g ; /}J)u v
ifi - Define Compiler. C{J/‘) J gt e
iv- Define Constants. "
2 JWJ{’LU:!/J.IZ//J -V
v - Find out the :;rro; _f'rzm the code ., .
icf(y='-'5 if(y==5

vi- Find out the error from the code
/*This is a multi-line comment
3 - Write short answers to any FOUR (4) questions.

i- Describe if-statement.
ii- Define sequential control statements.
Identify the errors in the following code
if(0<1<2)
printf("0")
Write down the output of the following code
if(28%4!=0)
printf("Correct”);
else
printf("Right");

i -

v -

A 0)

s
8

g

-v- Write down the syntax of array dec| n.

vi- Declare an array of type int to

4 - Write short answers to any FOUR (4) questions.
i- Write down the names of kinds of loop.
11 -  Write down the steps of working of for loop.
i - Define function.
tv -  Write down the names of advantages of function.
v - What is meant by function signature?
vi- What is the output of following code?
int aa(int x)
{int p=x/10;
return p;

}

int main ()
{printf("We get %d", aa(20));
!

5 - Write down a detailed note on structure of C-program.

arks of 100 students.

":Z-:JIF'J/IL o 5[(]»5@/) - Vi

[*This is a multi-line comment

L FelzFL iy (4) e 0F-3

(2x4=8)
fuu f_,»- -
éd’lﬁ"ug’buﬁ: )IJ_')Z//) -1
@@ if(0<1<2)
printf("0")

g%-ﬁt;?J 5/;,_’:5@,/) -1iv
if(28%4!=0)
printf("Correct”);
else
printf("Right");

B R ATINA0-7. P
& é/’l.ﬁ‘} S J_NA (integer) jauiil g1 - vi
-;/(b:ﬁf/ﬁ Wr
(2x4=8) -Z felzFLair (4) e i -4
-égt_f.ruwuy i
N A o S R
C{J/JJC’ - i
‘,&gﬂf_)«liéu‘c’ Y
e i e ikl fa =¥
?L,(n l._f.:f,,d,if'J)'/J;'@u -Vl

int aa(int x)
{int p=x/10;
return p;
}
int main ()
{printf("We get %d", aa(20));
}
Section - II (33 o
(8) S U kIS K C - B
(8) _iqu._»w J//»Ml fe. Lf//f -6

6 - What is operator? Explain in detail about
Arithmatic Operator.

7 - Wirite down a program in C-language to input a number

from user and print its table using for loop.

(8) /Ja..u/ic"':///(!//u[u"f/r@C -7
< .//L,})KJ‘C_JAJ../)JfOr/L—/u’
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Marks: 10 Group:I Code: 7831 el 1004

P Y U TN - u:jljzé.)c':_Vﬁdlf/"{LéKQlﬁ ,L,{“”éé.J DulCeBeAclz Ll Jiryp o)
Kw? e IR w‘fzui'.-»MJa'_/if..%gL//:fusﬂ; uyc_b;ﬁ_’{:;/z’c.q}gﬁt S oob 32 Jb

1. 1- Forinitialization a variable, we use operator.  J&1 syl ALl rwadf -1
Al A
? D @ (C) = (B) — (A)

2 - Avalid character constant is

o LW HSE -2

¢ (D) " {C) 12 (B) 12 (A)

3 - printf() is used to print type of data. Ju g‘_ P/ 74711 ,‘3 printf() -3
- btm
allof these (U, (D) char (C) B) int (A)

4- getch() is used to take as input from user. 4'3— ot < oilo getch() -4
‘ | - by J
all of these U (D) float (B) int (A)

5- An if statement inside another if statement is g % Ao I 2 i b L it £ LS -

structure. - bl

decomposed 5;;.{ 3 (D) boxed 4% (B) nested %+ (A)

6 - Type/types of control state Ut U & fjJ u"ﬁd:}fui {&.c -6
4 (D) 2 (B) 1A

T structure allows repetition of a set of ingfructions. Py Se il =l 2 ﬁ;‘f -4
-¢ b Jrd L
data &3 (D) control Ju (C) condiional J<4 (B) loop <+ (A)

8 - The size of array in this statement int a[9]; / ¢ P tn =4 sl inta9) -8
-9 (D) 8 (C) 9 (B) 10 (A)

9 - Functions could be built-in or i S E Llak 26 -9
server defined Fwiny (B) admin defined &3 4! (A)
none of these u.‘." * (5/ < sl (D) user defined %Wy (C)

10 - The values passed to a function gre called Y o’ IS vl 't uﬁﬁ -10

returyt types u’#/lt s (B) bodies z3\ (A)
arguments YT (D) arrays 7/ (C)

121-(I)-1St A 223-32000



COMPUTER SCIENCE (New Course) (% YW «ll &g JrOss )15 A 225 Rl U Vil
Time: 1:45 Hours ‘Paper:II SUBJECTIVE .- Ji 1 Y & 1:45 1
Marks: 40 Group:1 ..rsf e 40 :JS&
Note: Section I is compulsory. Attempt any TWO (2) (2) v O = AT R Uit 2d
questions from Section IL. & e L ety

2 - Write short answers to any FOUR (4) questions.
i- Write down any four keywords.
ii- Whd is programmer?
iii- What is meant by variable declaration?
iv- >What is difference between unary operator and
binary operator?
v. Write down output of the following code:
int as3*5/(2+3)+7%2;
printf("%d",a);
vi- ldentify errors in the following code:
Print('Pakistan’);
8 - Write short answers to any FOUR (4) questions.
i- What is sequential control?
ii- What is meant by if-else statement?
iii- What is nested if statement?
iv- Whatis the output of following code:
{
int x=45;
if(x+20*7==455)
printf("Good Lucky.
else
printf(“Hopé for the' Best");
}
v- Whatis meaq;f’é; array initialization?
vi- Whatis meant by array size?
4 - Write short answers to any FOUR (4) questions.
i« Vyﬁté'down the names of types of loop.
ii- Whatis divide and conquer rule?
iii- What is meant by function definition?
iv- Define argument.
v- What is meant by caliing a function?

vi- Write down iwo advantages of function.

Section -1 il o 6‘7 ~/=2J3

e Loty (4) e .j,r-
~£{/‘Jﬁn Jllv = tgf

e b u’(/l/{ -ii

ey e AAEE -

fe JHV L RTEA 8 g6 -iv

(2x4=8)

e g ST W stn -v
int a=3"5/(2+3)+7%2;
printf(*%d" a);
2 P S St
Prnt('Pakistan’);
@x4=8) -Zgfeyr Loty (4) e if-38
¢ by @_-(J:)f J"c :é
@@ e e 2 felse -ii
O<©> e dp kre:, ,,;,,2'." if B -ild
?Jx kﬁ.&;&ﬁ(fﬁfiﬁbﬂ -iv

5.

%%?3

@%S @ { int x=45;

if(x+20*7==455)
printf("Good Luck");
else
printf(“Hope for the Best");
}
fe sl e R Sest v
e sy &;rr_'.. AL s -vi
@x4=8) -ZfeirPLleiy (4) jpe -4
AL pifgd i
Yq:,l!dr"(;/(iul;/fy - ii
ety e PAE i
..4’: ...yj’ J el /T -iv
e oy ,U’a-d—/df/uﬁﬁ
.z g;ﬁ}» d u“LB -

Section - II -

B~ What is meant by data types of variables?
Describe different data types of variables.
6 - What are operators? Explain assignment operator
and arithmatic operators. :
7 - Write down a program using "for" loop to print
* odd numbers from 1 to 19.

121-1St A 223-32000

i

2+6 (8) - e p e Ftsfetd -6
- e A s P 22

® Bl T S ST -6
-2‘,{&’&"; J
4+4 (8) 2 e v\ v:‘_“for" 2 & (Lﬁ{ Y

e 22y 19t 1 skt Jb Lot



( 7e/-2-23 i Al

COMPUTER SCIENCE (New Course) (% Ut IT sl JFULLE) 15t A 223 - (II) Wif®) Ui
Time: 15 Minutes Paper:1I OBJECTIVE - u":/"' gy &#15:=h
Marks: 10 Group:II Code: 7834 "5"/ 2 10 :cﬂ(.

L AR sy e u:?bifé.:&b[.dlr/;{gé((}b? ..Q?Zé.JDulC:BtAc:U:?;f/ch':.dlr‘/: %
K n? 4 s 0l uﬁeJﬂd/L)’é/&(LL/(.é[u;?b n:&)c’.ug-’é?:/fcr_ ‘;,f:.lz);t I ol Sl (%

1.1- Afloatuses bytes of memory. i 8 et S e wdog 1.1
6 (D) 5 (C) 4/(B) 3 A
2- are the values that do not change during -a.w u.“‘" J;; i 4? Z (Vf{ Ut u..""‘-? 23 -2
the whole execution of program.
comments il (D) strings ;}’ (C) constants u’w F’ (B) variables 12> (A)
3- To initialize the array in a single statement, initialize A L LT kot Life s -3

- 1
atthe time of ;=5 L (A)

before & = (C)
@@C@ e K enttfc -4

o %ﬁo "a" (B) "Here" (A)
@% Foped o -5
cannot be redefined  (F & L Ut iyl sk (A)
(D) cannot return a value /S uf." ks ad (C)

it declaration.
after &L (B)
bothA&B (s BuslA (D)
4-  Avalid character in C-Language is |
none of these U7 %3y (D) '9' (C)
5-  Abuilt-in function
can be redefined < (¥ b IF5 o 4ss

should be redefined < b bl e/l 5k

6- make it easier to read and ues in array. 7 T Loy sl La"/uf"g 9P = -6
- bl
functions ,ﬂ (D) exp (C) conditions Ql/"" (B) loops gﬁ) (A)

7 - Function signature consists of < bx Y I j;"c uiﬁ -7
retumn type Flz/ (B) function name 121 uiﬁ (A)

all of these (Y~ (D) number and types of parameters rL-’"l 2l 3145 d/ Az (C)
S iy Fled £ L&.c -8

8- True option about C-Language is

C is not a cage sensitive language & S e Y LIC @A)
keywords can be ysed as variable names < (& b | Ji1 ; 4 £ b L iy £ 35-8 (B)
all logica! operators are binary operators o Lok TEA )ﬁ.{ﬁ}f’?l} r¥ (C)
none of these HS e Uty ()
9- helps to determine tjie flow of a program. -& a4 Un L7 u.‘.; €3l £ f"§4 -9

data structure /.f k3 (B) ~ control structure f: U (A
program control s #', rU@ (D) data control s 3 (C)

10 - Types of control statements available in programming are Ut b Ul J Jw‘/ S ..f?!/jg -10
| 4 (D) 3 (© 2 (B) 5 (A)

122-(I1)-1St A 223-27000 /
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COMPUTER SCIENCE (New Course) (% Ui Il 2} JPGE) 15t A 223

W U n,

Time: 1:456 Hours Paper:I1 SUBJECTIVE .- Ji‘ﬁ! 1 Q.74 & 1:45 123
Marks: 40 Group:1I &% ~ =23 .‘.-;f Ly 40 :u’gt

Note: Section I is compulsory. Attempt any TWO (2)

guestions from Section II.

(2) e df < S o -q.d)ﬂdi”..b s
Hoyr Loty

Section -1 (Jil ..o

2 - Write short answers to any FOUR (4) questions.

1- Who is programmer?

ii- Define syntax.
iii - What are header files?
iv- What is the use of Scanf() function?
v - Find the result of the following expression:
3-3+9%2/(3-2)
vi- What is the difference between assignment '=' operator

and equal to '=="' operator?

3 - Write short answers to any FOUR (4) questions.

What is sequential control? ‘

What is if statement?

What is the output of following code?
inta=4; ° '
if(a%2==0)
printf("Even"),
printf("OK");

Define data structure.

How array is declared in C-Language?

Identify errors in the following code:

int m=40
if (m>33);
printf ("PASS");
4 - Write short answers to any
i- What is meant by nested loop?

1~
=

il -

iv-
V-

Vi -

X

(4) questions.

@
&

(2x4=8) izl (4) g -2
e bw uf /Lf,{ -1
) JIEn SO
St J}r kr}vb skt -iid
te Je ¥ AP scant() -iv
:é(k’.,m B’u'?' v"().:j@” -V
3-3+9%2/(3-2)
==t ke = T i
e 0/ Y
(2x4=8) -é;/’.-,w:/f'é.-.mr (4) /= Jf- 3
e :l/k’/c.'_ J:}-{J}{:g -1
S e if i
fe Vg ST W f3ls -iii

int a=4,;
@@ if(a%2==0)
@ printf("Even");
% printf("OK");

O%%ﬁ -i~—§.’f7J k3 -iv
ot Z.fjsaf L)Jf;ﬂu.‘: é:@LC -y
:}’f_:gfi}"}/{lc, LYW SLitw -vi
int m=40
if (m>33);
printf ("PASS");
(2x4=8) -Z foeFLlor (4) g 8- 4
Sepa o B2 -i
oot AU LAY -

ii- Isloop a data structure? Explain.
i~ Define built-n function, &P et -
iv- What is meant by parameters? e sl Ve 3K -iv
v- What do you know about the return keyword? tut 2 VS TIFL sl retum - v
vi- What will be the output of following code? ?J 5 Qf i ¢ 3 J.:' Cn -vi
int xyz(int n) int xyz(int n)
{ {
return n+n; return n+n;
} }
int main() int main()
{ {
int p=xyz(3); int p=xyz(5);
printf("%d",p); printf("%d",p);
} }
Section - 11 (9 o
b~ What are constants? Describe types of constants. 246 (8) -23:.: Wk (L«"l J o Tt y’a.uﬂ" -b
6 -~ What are logical operators? Discuss types of (8) (t}i S Ul St Lon kf )ﬁ.{TJfﬁu L J‘“ -6
logical operators. -’12_: vk
7 - . Write down a programe using "for" loop to print 4+4 (8) il o F20/L o 2280 rl):{ So-T

forg

even numbers from 2 to 20.

o i bn x/ Jei S “for” S
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Time: 15 Minutes
Marks: 10

Paper:11
(Group:I)

K i A2 0idl Gk &J!"JL./(/:. /:..‘/K_l, d_//:

1. 1- The values passed to a function are called
arguments u—f"‘fjf (D)

2= structure allows repetition of a set of

instructions.

data &} (D)

control  Jy & (C)

3 - Inif statement, what happens if condition is false?

index out of bound error

compiler asks to change condition

4 - __relalional operalor is used for equal in
C language.
>= (D) = (C)
5 - What will be the output of this code?

COMPUTER SCIENCE (New Course) (# Ut Ilouf JEGLE) 222 - (V)
OBJECTIVE ... )

Code: 7837 40)’—4[—“—(7’/ ey

& R =Sy YV £ el dlr’/: £ QK dig
armays z4 (C) return types U¥tut, (B)

conditional L;P (B)

DR %

—_— .
I 24 R LR

10 :/

.u_réf;_,DmcfB:Aoyz;ﬁ,gz:;dwﬁ

S UsHy U)LJ‘C_—&g-—&)/C’.—J:L/JL J/o}b.\'\h‘?&’(&/

_quM___w’fdeJ&fuig it 5
bodies zi{ (A)

i nfedr el 2 LL -2
-< b Jiw1
loop Y (A)

Yo b Ui S RNt 2 g
<t Sk (A
e b1 b3y ST wsT S (8)
eI ¥l AL ()
further code executes o Cfréji 5;((5@ (D)

-¢ tw =1 é"_._;r;/:‘/. '8 é:@u"f ‘..,;“ L/H’J:J -4

@ﬁ)* =

L g 5
¢fn Ve edT$ 3o -5

program crashes

et O
int add (int a @S
( ©
. 7 ret b:
¥
}og
void main ()
{
printf ("%d", add(2,4)):
16 (D) 8 (C) 6 (B) 4 (A)
6 - Functions could be built-in or . 3{}3 £ u Lutad 22 g

server defined 3., (B) /.

function defined %} o2® (D)

1
'

If the size of an array is 10, the range of indexes

will be
0-9 (D) 0-10 (C)
8 - A set of multiple instructions enclosed in braces
is called a .
box % (D) list &) (C)

9 - A software that helps programmers in writing
computer programs is known as
IDE 15547 (D)

10 - From the following

debugger _/G-)‘ (C)
is a valid character,

lal (D) "8" (C)
121-(IV)-222-34000

_ admin defined Puskl (A)
user defined A3y (C)

-Jn | (":J/J/-Cil?q_ﬂoy'bﬂ_./lﬁ -

1-10 (B) 10 -20 (A)
b O (O IS PSS R 3 - B
job b (B) block 1t (A)
e Goou L '&Fflﬁg /'):{f)/l/:{ :?/:';h‘)i/vg -9
- t'Ur(

editor x4l (B) compiler /l{ (A)
-c‘:_\..wuu.‘.'ér@(f}'g/ r'_LﬁJ_j,,wcz -10
"C Language" (B) "here" (A)

ZJU{,)I"./L

.
- e,



Time: 1:45 Hours Paper:1I SUBJECTIVE
Marks: 40 (Group:I)
Note: Section I is compulsory. Attempt any TWO (2)

questions from Section II.

G“T—%[. »Sectlon I Jit o

(2x4=8)

2 - Write short answers to any FOUR (4) questions.

1- Whatis meant by variable deciaration?

ii - What'is meant by key words?
ui - Define compiler.
iv- What is assignment operator?

v - Why printf() function is used in C language?
vi- lIdentify errors in following code:
intx =15
print("x =%d", x); 5
3 - Write short answers to any FOUR (4) questions.
1- What is meant by control statements?
1 - Find the errors:
int age = 20,
if (age > 18);
printf("Elder"),

Why do we need selection statements?

(2x4=8)

------ (5(3” 1I 24 g 1:45 =3y
(w2 1) 40 :U%
(2) we J}rc_. U9 o -(T',JJU(JE'.ID Ly
.pyzl..-,mr

L fen ey (4) Sy 3 - 2
fe sl Ve A u(/:” -3

Sl Ve 5We 25155

A

S bor e T AL

S bl Ui u{fﬁprintf() LhECc v

EE e S L
intx =15

prin("x=%d", x);

- 1

-1V

-vi

e Ly (4) e O~ 3
feoly k Ve pudiatiti :/ -1
:e;fuu- i/ -i
int age = 20;
if (age > 18);

printf("EIder")

ta

RO

@- O U oo § ookt

1 -
iv- Define "if" statement. O{&%O ‘{J/J,_/’ " v
v - Define data structure. @% _gf_d//b(/‘ 3
vi- What is the output of the following? %5 T Yy L5 T Sitw -vi
inta,b; @ ‘ inta,b;
a=10,b =20, @ a=10:b=20;
if(b<=a) if(b<=a)
printf("No" ) ; printf("No" ) ;
else else

printf("yes" ) ;
4 - Write short answers to any FOUR (4) questions.
1- Write down the output of the code.
for(inta=1;a<=3;a++)
{
printf (" Pakistan" ) ;

}
ii -  Write down the structure of " for" loop.
iii - Define a function with name of " product”.
iv -
v -  What is meant by "reusability"?

What is meant by signature of function?

(2x4=8)

Differentiate between built-in functions and user defined functions.

{

printf("yes");

_é./;air’ﬁ/‘?é:aﬂlf (4) /b = Jf— 4
) OB 11§ A

for(inta=1;a<=3;a++)

{
printf (" Pakistan™" ) ;

& P Ko
- s e ¢t L “product” i
S Ul Ot 2B e g ;ﬁ'ug-‘_@_
el e "Jetadn " -y
e e A0 E

V1 -
Section - I1 (1 .=
5 - Define constants and write down note on its three 2+6 (8) JJ{ ru"f u.; Juf ! é._{!/"'Jc,Ui:" - b
types. _;,_,_U
6 - What is meant by format specifier? Describe different =~ 2+2+2+2 (8) il f;,c-‘)o’ ?(‘. oy l:(c,- e -6
format specifiers with examples. _Zf U= e f)/’u,r_rugjﬁ
7 - Write down a program to print odd numbers from 4+4 (8) L 1-19 6w &S U fg{:’ “for" -7

1 - 19 using " for" loop.

cal S Wi Sy Sl O s



COMPUTER SCIENCE (New Course) (01 Il JFUEE) 222 - (I)
Time: 15 Minutes
Marks:

-5

Paper:II
(Group:II)

OBJECTIVE & I ;4

Code: 7%2 4(.4;,4' ),w..,,/ 09)

10

Iy 1= are the values that do not change during En S tn 4‘; L rf/i/* 2 Ut Bty
the whole execution of program.
comments u”"”f(D) strings )7',‘/ (C) constants u'&’"UK (é) variables al,é;‘ (A)
2 - From the following is a valid line of CO(‘;e. e uSU C:(,( We o dfjej.w
float=10; (D) line=thisis aline; (C) grade="A' (é)‘ int=20,; (A)
3- Among the following operator has the e //c. -’ (j} J/:{T e U S
lowest precedence.
I (D) > (G) I (A)
4 - An if statement inside another if statement is 6@@% if sl ;flul Lo i h
called structure. %} e L”Lb,f
decomposed 3);;53 (D) repeated s ( @&oxed Uy (B) Nested 2 (;\)
5 - control is the default control structure @ _c.//d; Wb, e ié ¥ éy@ G d;}f
in C language. @
array st (D) 45 () condiional 24 (B)  sequential JHE (A)
g - is the output of the f e e 3TE W Sin
intn{4}={8.,7,6,3}; intn{4}={8,7,6,3);
printf ("%d",n[3]),; printf("%d",n[3]),
3 (D) 1 (C) -1 (B) 0 (A)
7~ part of "For loop" is executed first. e 1 éi_ o ¥ " For”
body (it (B) condition &/ (A)
increment/decrement o’//.il.bl (D) initialization %7 24 ((5)
8 - In void main ( ) "void" is i "void" % void main ()
condition L; ([')) constant 259 (C) variable /2~ (B) return type '..;ft‘u,k/ (A)
9. Functions could be built-in or S E Lyl =8

user defined Wiy (B)
client defined X Wi (D)
10 - A function can return values.

4 (D) 3 (C)

122-(1)-222-30000 *

Ewsod (A)
server defined - S@isi (C)
i Cﬁ/U/l/ w’"; t./’l:’s—'j

2 (B) 1 (A)

admin defined

M : /'bk"’/'./'u';
(%@7 o2 -

7‘/" 15 1

p
0 (A
L iz u..//)c:,JUJ/‘)ZC_‘JLVZ—JU’//(}Kd'f L DHC B Aul.’:’,,’;)b[,db’,l 0%
_Kﬁ/)'dbl‘u'/l)’. sadi ~UJ/JL—/'// UKLL//J/U:/'J n)L/.:w_,...( ’ci”)/c_u’L/C :(a/b,:eh"f‘g)U:/

-1,

«
o

-8

-9

1



COMPUTER SCIENCE (New Course) (MUl 1leusl Jr-gisl) 222 (Wi L) U L |

Time: 1:45 Hours ~ Paper:II SUBJECTIVE ... dusi Izy & 1452
Ty i '
Marks: 40 (Group:II) (5,‘4)/ l/,u)/ 40 :ufj{
Note: Section I is compulsory. Attempt any TWO (2) (2) we (jfc.. ufr».-'o e Jsl o
questions from Section Il 4 “r,q bi‘_ e n Ly
. Section -1 Jil o a

2 - Write short answers to any FQUR (4) questions. (2x4=8) ‘égf.'otf /‘?.f_.:,u:r (4) /b Jf~ 2
. L

i - Define constant. -’éf..,d/‘"‘(,(:,}/{ -
1 - Write down the two rules for naming a variable. égdr’l 0wl e rt fdv”"d/: -

iii - Define syntax. =TT R4 TR
S e
v - What is meant by precedence of operator? e iU (‘j} J/‘./T -V

1v - Define assignment operator.

vi- Why "getch ()" function is used at the end of program? Jw1y (j‘c “getch ()" U~ 7L (/¢ \{l Vi

- et

L= _/f:«l"'ﬁ/'géol)b’ (4) /b = &f_ 3
ey Ve O b -

B2y N SV e

@ e Yo esTdSitn -
if(1==2) '@ if{1==2)
printf("True"); P
else Oé&%
printf("False"); %S@

iv - Differentiate between "if statement" and "if-el

3 - Write short answers to any FOUR (4) questions. (2x4=8)

1- What is meant by conditional logic?
11 - Define sequential control statements.

i1 - What is the output of the following?

printf(" True™),;

else

printf("False");

_8E Gl P U e feelse sl Y e i Ly

S é/}.{}cff(__,i_?j -

ey e "SR i

4) questions. (2x4=/8) -Zg(fal,'ﬁf"?é.:«wr (4) /b = (5/— 4

e Vg uSTE 3 Uitn -
int $S=0;

v - How can you declare an array?

vi - What is meant by "Array initializati
4 - Write short answers to any
i - Whatis the output of following code?
int$S=0;
for(inta=1;a<=5;a++) for(inta=1;a<=5,a++)
S=S+a;
printf("Sum=%d",S),

cur o S U Tty i

S=S+a,
printf("Sum=%d", 8);

ii- How many types of loops are in C language?

Write down their names. CLE e L
iii - What are user defined functions? Ut !_J/-/ﬂ;}‘;tép‘/)g -ih
iv- What does the return type of a function indicate? Ve (:l//ﬁu; L_.J/..?/‘L‘ s Ju’ﬁ Y
v. Whatis the difference between arguments and parametprs? LN SV D) AL u*l’f:T —v

Se oy Ve L/JKU‘G -vi

vi - What is meant by function call?

Sectign - 11 (9 D

5 - Explain the structure of "C" language program, 4+2+2 (8) o eoloy sl J(UC{ L 6)‘2‘) "G =b
in detail. & Uk

6 - Define operators. Explain different types of logical 2+2+2+2 (8) J)f.{f’ &L % et WPk -8
operators. -2__{ 2 Lo

7 - Write down a program using FOR loop to print ( Structure (4) éi’j(l/:{ LI & Z_,/JLJ/! f;f»‘ FOR -7

"PUNJAB" 10 times. Logic (4) e/ "PUNJAB" 2/ 10 2
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COMPUTER SCIENCE Paper:Il (B U+ Il &g JEELE) 221 - (1) II g4 e
Time; 15 Minutes (Group:I) Objective - u'fy“ (1”/ ) & 15 2%
Marks: 10 Code: 7838 <0UJT=G /-2 10 : /%

é:ul:’../»c:,u"u:/bc.’fd..:c:.lzéwr‘//géfdli -u‘cfa.:Du’C B« A.—U?.f/laidfr'/ W
-b’r;r"}bb liu;& ~uJ}“Jé—// ....«(L&./'//:(u:/bubc'-f ‘Z‘.’)/:-J;L/& fa/b.da/d(b‘

1. 1- The CIRCLE statement can aiso be used to draw a/an - = 61 £/ (7 & Yk J 4 CIRCLE -1.1
PSET PSET (D) ellipse J’dy?s (C) | , box J(L (B) line Ju (A)
2 - Which of the following BASIC statement is used to it Oor Jit s & it fﬁ ALy -2

- define a function?
DEF NF (D) DEF FUN (C) DEF FN (B) DEF (A)
3 - The out put of the function RIGHT$("PAKISTAN",3) is -& <z SJ RIGHT$("PAKISTAN",3) -3 -

3 (D) PAKISTAN (C) TAN (B) PAK (A)
4 - How many types of array in BASIC are? <?)L3! J e -4
4 (D) 3 (C) O®> 2 (B) 1 (A)
5- Every element of array has its own < et i Celip vt -5
. structure }: ~ (D) limit .« (%@ ension u"":“"gl (B) index u’fxﬁ (A) :
6 -. How many types of control structure are ther@ ' =04 (Uf J f /J,/ -6
4 (D) © 2 (B) , 1 (A)
7- Aloop within.a loop is called e du Ll -1
| loop 4 2 (B) FORLOOP ./ FOR (A)
Simple loop 4 sst- (D) Complex loop —4es% (C)
8 - The extension of BASIC program is , & Jn uﬁtﬁ’sl J ,'lf;{b@ -8
bs (D) doc (C) txt (B) ' bas (A)
9 - Which shortgut key is used to RUN a program in Basic? - J Sl J e v (l/;; ke -9
_ F4 (D) F3 (C) F2 (B) F1 (A)
10 -. Which of the following errors can not be detected o(C ks /t[ Pt e e Ly -10 |
by the compiler? , |
l logical error /! Sz (B) syntax error /! peSilisw (A)
machine error J,/iu? (D) run time error /! (”L‘ui (C)

120-(11)-221-32000



COMPUTER SCIENCE Paper:II
Time: 1:45 Hours (Group:I)
Marks: 40

Note: Section I ig compulsory. Attempt any TWO (2)

questions from Section II.

(o S TT ey JFUEE) 221
Subjective

4V1Gi1-2

I 24 lad
(2 by & 1:45 .2

40 : /0

(2) ne é/:_. gﬁ(u...‘-o _ﬁ:_dJUJ;L.b oy
-é@bljtéamr

Jwi

Section - I J.‘il -0

2 - Write short answers to any FOUR (4) questions.

1-  Write down the use of these éymbols:

11 - How is desk checking performed?
i - What is the use of selection structure in GW-BASIC?
iv - Write down the syntax of WHILE-....-WEND loop.

v- Whatis the use of IF~-:-v-THEN ----- ELSE statement?

vi- Whatis the use of loop control variable?

3 - Write short answers to any FOUR (4) questions.

1-  Wirite down steps to load a program in GW-BASIC.

1 - Whatis the use of REM statement in GW-BASIC?
iit~  In how many modes GW-BASIC can operate? @
Write down its names. &
iv - Define array.
v- Whatis an index?

vi- Differentiate between simple and subscripted variable.
4 - Write short answers to any FOUR (4) questions.
Why is it a good idea to use sub-program?

Define numeric functions.

Write down the syntax of user-defined function.
Differentiate between ABS and RND function.

What is the use of text imode in BASIC?

Write down the purpose and syntax of LINE statement.

Section
b - Define problem solving.iWrite down names of steps
to solve a problem and explain any two of them.

6 - Define variables. Describe two basic types of variables
with examples.
7 - Write use of CIRCLE statement. Explain it with the help

of example..

120-221-32000

@
&

(2x4=8) Z falzF Loty () e (-2
eyl -

[/

et bt el S W s i
o Jb1 U ek b PR

- i
-iv
-y
AL U v

(2x4= o@é(i 2Ly (4) sy §F- 3

< %%_//}uﬁ: L LT3 ey 2 owBAsIC -i

fe JU1 |6 L5 REM ( GW-BASIC - ii

L e 7 ey Tt iy & GWHBASIC - iii

¥4

ARy f P

e W

& Uk Gt g P ke

(2x4=8) _Z feliz Ly (4)jpe 3 -4

S Pt Ul Jei K(l/j{ e

-1y
-V

- vl

-1

E AP i
2 ki v AP e i

-2 U Gt AP RND 1 ABS - iv
e I Ko Bt G
<& 17 oSt sl a8 ¥ L LINE

- Vi

Il oo
(8) =uddlfL e LuiifLf 5
F o dnsde tumed fru L
(8) WS I n St e if el -
Yk AL
(8) enddedu-g flegaif S oq
_Zﬁ;yt‘as
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COMPUTER SCIENCE Paper:Il  (fb Ui ILeu} JE61E) 221 - (V) I0 ¢ Fnd
Time: 15 Minutes (Group:II) Objective - U‘S/‘ (‘(’/ L) &2 15 1y
Marks: 10 & VJ=6 2-2 Code: 7838 10 ;%

L »..J_Pn.//:aufu:szc:_:c:.b-ﬁ.dfr‘//d'(dli -u"c’fc..: D./CB:« Aul,iﬁ;fzj’aé J'fﬁ’:h‘d;
K gl -y u;gu‘...«/r"JL./,; ;.«KH../’Z@[U:/'J ol e L 2)/5.(}“/5& & o7l Sl {2

(EEEds -1
alphabet w.ll (A)

1. 1- Avariable name must be started with a Lebinlsfe

underscore 41 (B)

alphabet or underscore 41y .6y (D) digit w5 (C)
2- Division by zero is i (:ﬁ M -2

logical error /1 J?U (B)
not an error u:f){véf (D)

syntax error s/ pSiiisw (A)

runtime error /17ty (C)

?c.f//d’/W/C—U'u‘ -3

selection @’) sequence <7 (A)

4 - A function which is defined by a user is called g B &S JWs Iy e .fau’ -4

string function Jﬁ /> (B) &;& numeric function kf‘o_&‘i (A)

3- Which of the following is not a control structure?

loop ¢ (D) choice &1 (C

built-in function Yled (D% user defined function u"ﬁif(:g}u'g C)
5- "RND"function is a L u"‘G "RND" -5
built-in fungtion u—"/’ &2 user defined function uﬁf’b’ By (A)
lochl fu b ) string function *FLEx ()
6-  Aloop withinia loop is e4lled et AL I 6
~ Complex loop .;)u'ﬁfr (B) Nested loop 4%+ (A)
inner loop 4.kt (D) Infinite loop 92y ‘1)
7 - If two or more; statements are written on a line 4 th d"( Lddw i e a9 Lo Jb A L A7
they must be separated by a - b g S 7
hyphen ¢ (D) comma L/ (C) semicolon = K= (B) colon ¥ (A)
8 - The statement x(30) will reserve memory locations. -« C}/ 724 ,ﬁ‘f;’ S x(30) o g
32 (D) 31 (C) 30 (B) 29 (A)
9 - On color monitors, SCREEN modes are of _______types. -t el d/ Ji» SCREEN ¢ )/'f'//g -9
5 (D) 4 (C) 3 (B) 2 (A) ,
10- An element of an array is mentioned by its ABELRISE o Sl Zul 210
array < (B) : subscript 5*/,/4..,/ (A)
name of element (L'Lug (D) object LLF (C)

121-(IV)-221-32000



COMPUTER SCIENCE Paper:II
Time: 1:45 Hours (Group:II)
Marks: 40

(ﬁ:

Subjective

GVT-42-2|

Note: Section I i§ compulsary. Attempt any TWO (2)

questions from Section Il

W DTy JEGAE) 221

I 34 Sond
(g 1) & 1:45 15
40 :;f;!.

(2) we ch.. uﬁr.u..b -5 il s

ez Ly

Section -1 Jil .=

2 - Write short answers to any FOUR (4) questions.

i- Why is it necessary to test a program?

(2x4=8) ‘é{/_,wf"zﬁumy (4) /b = Jf

e Snrud tSadfphy

-1

ii - Give two causes of logical error. -é (fc. SEINL D] d"' -
iii - Define selection structure. &S A S i
iv- What is meant by loop? te e of -iv

v- Why control structures are used in BASIC? Se bl YU Ul A v
vi- Define WHILE-WEND loop. -8 3/ o/ WHILEWEND - vi

3 - Write short answers to any FOUR (4) questions. (2x4=8) uwu” L=ty (4) ' Jf 3
i- Describe two feature$ of IDE. @ ..Z vk ..L.u" » J IDE -i

ii- Define the term "Loading a Program". {;{%{\O JEE /’J Lot § 83 rl/'j; Lio-id
iii - Define constant. @% ey Jey -iii
iv- How subscript variable can be written? % e e b W, 4’ 2 cx.,;'.,/ -iv

v- Whatis meant by filling of an array? @ e sl e L -
vi- Define 1-D array. Z oyl D i

4 - Write short answers to any F (4) questions.

(2x4=8) -Z flrFLobr (4) g -4

i- Write down the purpase of VAL function. L&l AP vaL i
ii - Define data file. gl Sie -a
iii - Write down the purpgse and format of RND function. & s sl 4 K u"‘a RND - i
iv- Define numeric functions. Ay /;6 J2d -iv
v- Describe the text mode. kel oy
vi- What do you know about SCREEN statement? b TR & ¥ SCREEN -vi
Section - II (11 .
5 - Define flow chart. Write down any of six guidelines (8) & Lk .:/zlg;“.."_é s ..‘.'u_lg:G -5
for drawing a flow chart. ‘ A V1
6 - Define variable. Writeidown the ruies for naming (8) Lurtl et w2 w82 -6
variable in BASIC. P4l
7 - Write down a note oniuse of CIRCLE statement (s) £ JWI ..*/-!’ CIRCLE s GW-BASIC -7
N

in GW-BASIC.

121-221-32000
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